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QUESTION 1

Your customer matches their invoices to a purchase order and have noticed that the payment terms are defaulting from
the order. For some suppliers, they would like to use the payment terms from the supplier site.

How can the customer achieve this?

A. Enter the payment terms in the Manage Payment Options page so they default onto the invoice.

B. Enter the payment terms at the Supplier level so they default onto the invoice.

C. Enter the payment terms at the supplier site level so they default onto the invoice.

D. Manually override the payment terms that have defaulted from the purchase order for those suppliers.
E. Enter the payment terms in the Manage Invoice Options page so they default onto the invoice.

Correct Answer: D

QUESTION 2

You have an invoice for $200 USD and a credit memo for $225 USD. In other words, the credit amount exceeds the
invoice amount. If you enable the option to apply credits up to zero amount payment, then how will the invoice and credit
memo be paid?

A. Neither the invoice nor the credit memo are included in the payment process request because the credit reduces the
payment amount below zero.

B. Both the invoice and the credit memo are paid and a refund of $25 USD is created.

C. Both the invoice and credit memo are included in the payment process request for a payment amount of $0 USD.
The credit memo is partially paid with a remaining credit of $25 USD.

D. Both the invoice and the credit memo are selected and the Payment Process Request requires attention.

Correct Answer: C

QUESTION 3

Which is the Payables tool based on real-time data?
A. Essbase Cube

B. Smart View

C. Oracle Transactional Business Intelligence (OTBI)
D. Oracle Business Intelligence Applications (OBIA)

E. Oracle Financial Reporting (FR)
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Correct Answer: E

QUESTION 4

Your intercompany transaction type is active and enabled for invoicing. What are the two prerequisites to generate
intercompany receivables and intercompany payable transactions after the Generate Intercompany Allocations process
is run? (Choose two.)

A. For the Legal Jurisdiction, Legal function: "Generate intercompany invoice" should be assigned.

B. Schedule create accounting for the intercompany process.

C. Supplier site primary pay flag and customer account bill to primary flag should be enabled.

D. Run the processes Create Intercompany transactions to Receivables and Create Intercompany transactions to
Payables.

E. Run the processes Transfer Intercompany transactions to Receivables and Transfer Intercompany transactions to
Payables.

F. Manual Approvals should be allowed for the transaction type.

Correct Answer: CE

QUESTION 5
Which two statements are true when you are using the Intercompany Reconciliation Reports? (Choose two.)
A. You must run the prepare Intercompany Reconciliation Reporting Information process.

B. The reconciliation period summary report will not show the intercompany receivables and intercompany payables
lines generated for the provider and receiver of each intercompany transaction.

C. The reports will show the intercompany receivable and the intercompany payable lines generated by the
intercompany balancing feature.

D. The reports will include Ledger balancing lines generated when the primary balancing segment value is in balance
but either the second balancing segment or the third balancing segment is out of balance.

E. You can drill down on the links in the Period Summary report to view the balances by Intercompany Organization.

Correct Answer: AC
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